ApPTHUKYZ HamMeHoBaHMe Kon

BuuT M4x16

Pyuka-myra

Pyuka ToOpMO3a

Ne
87 1 1 BuuT M4x12 15
86 §? 2 [ImacTrHa NPWXUMHAS 1
3 IHyp ceTeBOM 1
» 4 Pe3uHKa WHYypPa 1
5 DepxaTesyib JIaMIIOUKU 1
6 Jlamriouxka 1
7 Buut M2x5 1
8 TpyOxa 4
9 KoHTakTHas IJomanka 2
10 [IpyxMrHa 1
11 |792-803-011 Bas OJIOKMPOBKU 1
12 |792-803-012 Kiaswuma 1
13 Byt M4x12 1
14 |792-803-014 Tsara 1
15 [IpyxnHa 1
16 [IpoBoOxn 2
17 |20-0078 MMKPOBEIKJIIOUATEIb 1
18 |792-773-006 KonmeHcaTop 1
19 [IpoBoOxn 1
20 [IpoBoOxn 1
21 |792-803-021 BrikJjiouaTesib aBT. 1
22 [Iposon 1
23 IIpoBoOxn 1
24 120-0073 MMKPOBEIKJIIOUATEI b 1
33 17
34 1
35 1
36 1
37 1
38 1
39 1
59 4

792-780-016 [IpyxMHa TOpMO3a
BuuT M3x%8
lanba
BuuT M5x20
BuuT M4x12
Monmerib
[nna eIlHasl 3JIeKTpndecCkKas
B P CSE250
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
80 |792-803-080 Kopnyc, npaBas IMOJIOBUHA 1
81 BuuT M5x45 1
82 BuHT M3x12 1
83 |792-803-083 [IpyXMHa 3BE3I0UKM 1
84 |792-773-055 3Bes3nouka Benylas 1
85 |792-773-056 Kosnbllo CTONOPHOE 1
86 YnJoTHeHMEe MacJliokaHalJla 1
87 Ynop 3yOuaThit 1
Mogpernb

[Inna uenHasi SJIeKTpn4YecKas CSE250

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 2




63 /

Ne ApPTHUKYZ

HamMeHOBaHME Koxn

25

26

27

28

29

30

40

41

42 |792-803-045 IBuraresbr B cbope

43

44

45

46

47

48

49

50

44

51

52

53 |792-803-051 llecTapHa penykTopa B cbope 1

54

55

56

57 [792-803-057 [EIBHMK MEeCTEepPHU

58 [InacTrHa NPWXMMHAaSA

59 BuHT M4x12

60 CoegeHUTEJb

61 llToxk ToOpMO3a

62 [IpyxMHa TOpPMO3a

63 Manba

28 |792-803-028 llerxky rpadUTOBEE

Rl R s e

[Inna uenHas SJIeKTpn4YecCKasd

MomeJsb

CSE250

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
64

65 [792-773-040 [IlpoBbra maciobaka 1
66

67

68

69

70 |792-803-068 Bak MaCJIsHBEIM 1
71

72

73

74 BuHT M3x8 2
75 |792-773-046 MacsoHacoc B cbope 1
76 lyaur, 1
77 llryuep 1
78 1792-810-088 KoJp11o yIJIOTHUTEJILHOE 1
79 |792-803-079 YnJoTHEHME MacJjioHacoca 1
88 |792-803-088 BoJIT HaTaSXUTEe s 1
90 |792-803-090 Haraxmurens (Ha MUHY) 1
93

94

95 |792-803-094 Kpellka MWMHE B cOope 1
96

97

Mogpernb

[Inna uenHas SJIeKTpn4YecCKasd

CSE250

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 4




